Three Numbers

The Problem:

There are these three numbers…

When added together, in pairs only, the sums come to 11, 17 and 22.

What are the three numbers?

Can you find the three numbers if the three ‘pair totals’ come to 12, 14.5 and 19.5?

Hint:
Call the three numbers a, b and c…

Solutions:

(a+b) + (b+c) + (c+a) 
= 11+17+22 = 50

So,


2(a+b+c) 
= 50

And,


    a+b+c
= 25

Now, since 
a+b = 11, so c = 14
Similarly,
b+c = 17, so a = 8
And

c+a = 22, so b = 3
For sub-totals of 12, 14.5 and 19, the corresponding answers are 3.5, 8.5 and 11
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This type of problem is commonly seen in the form of a diagram, where the task is to find the numbers missing from the circles shown:

It is useful to have a quick method of solution, although a ‘guess-one-number-and-modify-by-half-the-final-error’ approach is pretty quick too.

